EARAZROREIERT — 2 N—XBISY —F 20145F4827H (B) SEIZEAR2H

m7»r S_ZC G2 ¥S5R4ZEL (BER) (5% BE [l [mm -~ 2 ) oo a
[A&4] 1 7% :57,000,000 § ~ 2 7% :23,000,000 @ . 3 37 :14,000,000 @ 4 & :8,600,000 @ 5 j& :5,700,000 M
WmEHR MK ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
g t 5 | AL YagLy 1:31.4 4-4 33.2[112.7| 3 466 | MIFE (FR)
7= RFI—-2X * 5.0 o +16) ) $r7—L-32y
LFA—TANT N BiRLTT =¥ T — L
# o5 | RE 1:31.6 65 [33.2]110.5| 1 | 506 |BERXR (EX)
7410 56.0 (1 1/4) (-6) |EFEAF-AF TR (#)
R:F1—TA42N7 b BvE— HEI77—L4
-\ JI| BT HE : = AEEE (EXR)
IXZRSTLR 45 e 1.(321>.9 8-7 33.20107.1| 2 (4_628) EBE R
R:F4—=TA4>N0  B:h—-ULT HET7—L
v K . sto4 | JERE 1:32.0 1-1 34.2|104.4| 6 476 | HBEAEARER (RR)
Ly R7U# > 56.0 (1/2) © | @) mRA-ZL->2y
R:TTRRAFLL BIUEETL— ITRLREIAS b
N . t o4 | HEE— 1:32.0 5-5 33.6|105.9 | 4 480 |HKENE (ER)
T—-RIF1> * 56.0 (7E) (+4) ) A-23
R:Fq=TA>NNT b BIT7AVINT RENS
4 4 | FEEZ 1:32.4 2-2 34.5[100.1| 5 508 | HET (RR)
615110 hFXERX 56.0 (2 1/2) (-12) | NEES
RRAFINTYT BATY—ZH—F> SHE B
. t 8 | EHES 1:32.4 14-14 | 32.8(101.5| 10 | 504 |AARFEE (F#)
7 3| ¥>Hin k 56.0 (7€) o) | (B) HAL-ZA-2
R:VPRYZYAIR B:F 14— (B) #BA3—-RKL—va>aE77
N ° AAILBATE : - TR (ER)
8l5lg|HY/ENFaY o4 e 1(.13/22.)5 9-10 [33.5(100.3| 12 (ﬁg) i
R:ZBFa—FTUNT 4 BARHYRI—-IFR FE NS
. e NV oN 132. - . . BEE (EX)
9 7| 7 K31 % KA o4 RS 1(/§2+§3 7-7 33.8(100.3| 7 zzgt e (
R:7RIfYL—> B:OCAvILA—FR T HiE
S, o4 | AERR— 1:32.6 9-9 33.7 | 99.1 | 11 470 | EEFE (BR)
10ffl14| 77>~ A2~ 6.0 (172) o) |
R:TITRREXFL BiLTFFTTI=X (/) HEa—-KL—Ya>AET7
; . o4 | BHF 1:32.7 13-12 | 33.3] 98.0 | 8 514 | BE—% (BH)
1jgge T-NVIV-Z ' 5.0 (1/2) © | (B HEL-ZE-2
R:7V%tx .74 Vv ah-Y (B) A1 -FL—->a>aEI7r
S g, > 8| E. ~ROY 1:32.9 2-3 34.9| 95.0 | 13 | 468 | THEEZ (E=R)
12112 |&#/>7077%— - 56.0 ) (+a) | R g/ v o2
R:y4—I>TLh B:9)yIET EBRTF— L
o= . E AT :33. - . . E+RBE (ER)
13l8l15| ATLR KT — K 6 BARA 1(13/32>o 16-16 | 33.0| 94.7 | 15 zzg;) /J\ﬂ:g%
RARFAT—NE B:S5RTSA4F717 RS
= = 4 6 | =X 1:33.0 11-10  [33.9] 94.7 | 9 508 | ARET (ER)
14{7[13| 7 MLA% =T 5.0 (7E) g | EERE
R:g=JF¥LLy b BTV RLYT a1 A 45
sS4 TS50 R 4 8 | BERMATT 1:33.3 11-12 | 34.0| 91.4 | 16 | 512 |XBHEL E#)
1511 71T>7Zv R 56.0 (1 3/4) (o) | RERE
gL FY ML BT —3 K ST UL <)
o i 8 | BRR 1:33.5 14-14 [33.9| 89.1 | 14 | 568 |HMiEs (R=)
16|8|16| ¥/ /¥ Y — .0 (1178) (o) | BEERE
gL FY ML BYTIEST ¢ [L=tie)
@ 71 L
) 44.8-33.6
NA>ZA L | 12.5-11.0-11.4-11.7-11.2-11.4-10.9-11.3
® I —F—@EBIERL
1T=7r=
230—7F—
Gol=5r= 11(2,10)4,6,5,7,12(9,14)-(1,13)8(3,16)-15
40—+ — 11,10,2,4(5,6) (12,7)14(9,13) (1,8) (3,16) 15
[ N3
B O 4 640M 714K 4-5 390M e E 2-3 590M JEHE 4-5-12 1,310
8 B 4 200M 4-12 570M B = 4-5 860M B 4-5-12 7,930
5 120/ 5-12 230M B H 4-5 2,090
12 140M

ABICOVWTRDTEEERROODE. TR LIV,



